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P
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P
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rocessen

A
tkom

pilere

↑

V
ifølgerA

N
S
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p
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#
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c
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d
e

<
s

td
io

.h>

in
t

m
ain

(
vo
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)
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/∗

seconds
.c
∗

/
lo

n
g
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t

in
p

u
t

,
tem

p
,

h
,

m
,

s
;

p
rin

tf(
"G

iv
m

ig
e

t
h

e
lta

l!\n
"

);
sca

n
f(

"%
ld

"
,

&
in

p
u
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h=

in
p

u
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3
6

0
0

;
tem
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p
u
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3
6

0
0

;
m

=
tem

p
/

6
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tem
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6
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p
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\n%

ld
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n

d
e

r
sva

re
r
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\

%
ld
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e

r
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%
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m
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u
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r
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%
ld

se
ku

n
d

e
r\n

"
,
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p

u
t
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);
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;
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m
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p
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e
lta

l?
\n
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n
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d
%

d
"

,
&

a
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&
b

);

lig
=
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b

;
/∗

b
e

d
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m
ed

p
a

re
n

te
se

r
...

∗
/

p
rin
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"

\n
O

u
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u
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%
d

\n
"

,
lig

);
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;
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p
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e
lta
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&
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=
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(
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p
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d
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=
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p
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n
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e
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to
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.\n

\n
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M
å

je
g
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h

e
lta
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\n

"
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n
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d
%

d
"

,
&
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&
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b
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=
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e
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e
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=
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p
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d
e

r
%

c
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%
d
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"
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,
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,
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;

}

15
/23

K
om

m
andoblokke;scope

U
dvæ

lgelse
m

ed
if,2.

U
dvæ

lgelse
m

ed
sw

itch
G

entagelse
m

ed
w

hile
G

entagelse
m

ed
for

K
ontrolstrukturer,2.

8
K

om
m

andoblokke;scope
9

U
dvæ

lgelse
m

ed
if,2.

10
U

dvæ
lgelse

m
ed

sw
itch

11
G

entagelse
m

ed
w

hile
12

G
entagelse

m
ed

for

16
/23



K
om

m
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;
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ls
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m
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w

hile
G
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m
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for

blok
=

antalkom
m

andoerom
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}
en

blok
behandles

som
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kom
m
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blokke

kan
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ihinanden
istarten

afen
blok

kan
variabelerklæ

ringerforekom
m

e
!!

disse
variable

erlokale
forblokken

(deres
scope

erblokken)

#
in

c
lu

d
e

<
s

td
io

.h>
in

t
m

ain
(vo

id
){

/∗
b

lo
k

.c∗
/

in
t

a
=

5
;

p
rin

tf("F
ø

r:
a==%

d
\n

"
,a

);

{
/∗

en
b

lo
k∗

/
in

t
a

=
7

;
/∗

d
e

k
la

ra
tio

n∗
/

p
rin

tf("
I:

a==%
d

\n
"

,a
);

}p
rin

tf("
E

fte
r

:
a==%

d
\n

"
,a

);

re
tu

rn
0

;
}

#
in

c
lu

d
e

<
s

td
io

.h>
in

t
m

ain
(vo

id
){

/∗
b

lo
k2

.c∗
/

in
t

a
=

5
;

p
rin

tf("F
ø

r:
a==%

d
\n

"
,a

);

{
/∗

en
b

lo
k∗

/
a

=
7

;
/∗

a
ssig

n
m

e
n

t!∗
/

p
rin

tf("
I:

a==%
d

\n
"

,a
);

}p
rin

tf("
E

fte
r

:
a==%

d
\n

"
,a

);

re
tu

rn
0

;
}
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“D
angling
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et:

if
(

a==
1

)
if

(
b==

2
)

p
rin

tf(
"A

"
);

e
ls

ep
rin

tf(
"B

"
);

a=
=

1
jab=

=
2

printf("A
")

printf("B
")

ja

nej

nej

if
(

a==
1

)
{

if
(

b==
2

)
p

rin
tf(

"A
"

);
}e

ls
ep
rin

tf(
"B

"
);

a=
=

1
jab=

=
2

printf("A
")

printf("B
")

ja

nej

nej

en
else

knyttersig
altid

tilden
inderste

if
brug

kom
m

andoblokke
foratundgå

tvivl!
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H
vad

hvis
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end
to

valgm
uligheder?

B
rug

sw
itch

!
#

in
c

lu
d

e
<

s
td

io
.h>

in
t

m
ain

(
vo

id
)

{
/∗

sw
itch

.c
∗

/
in

t
a

;
ch

ar
∗

d
yr;

p
rin

tf(
"G

iv
m

ig
e

t
h

e
lta

l!\n
"

);
sca

n
f(

"%
d

"
,

&
a

);

sw
itch

(
a

)
{

case
1

:
d

yr=
"h

e
st"

;
b

reak
;

case
2

:
d

yr=
"

g
ris

"
;

b
reak

;
case

3
:

d
yr=

"abe
"

;
b

reak
;

d
e

fa
u

lt:
d

yr=
"ko

"
;

b
reak

;
}p

rin
tf(

"
\nD

u
e

r
en

%
s

!\n
"

,
d
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);
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tu
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0

;
}
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sw
itch
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u

d
try

k
)

{
case

co
n

st1
:

com
m

and1
;

case
co

n
st2

:
com

m
and1

;
...
case

co
n

stN
:

com
m

andN
;

d
e

fa
u

lt:
com

m
and

;
}

førstberegnes
udtryk.R

esultatetskalvæ
re

etheltaleller
nogetderligner(f.x.en

c
h
a
r)

udtryk
=

consti ⇒
com

m
and

i udføres.H
erefterudføres

com
m

and
i+

1
osv.

udtryk6=
consti foralle

i⇒
default-kom

m
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udføres,og
herefterde
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m
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m
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hvis
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kom
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startes
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udtryk
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udtryk

ja

nej

kom
m
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#
in

c
lu

d
e

<
s

td
io

.h>
in

t
m

ain
(

vo
id

)
{

/∗
w

h
ile

.c
∗

/
in

t
h=

0
;

w
h

ile
(

h
!=

1
2

3
4

)
{

p
rin

tf("
In

d
ta

s
t

d
e

t
hem

m
elige

h
e

lta
l:

"
);

sca
n

f(
"%

d
"

,
&

h
);

}p
rin

tf(
"

\n
H

u
rra

!\n
"

);
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0
;

}
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fo
r

(
in
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;

c
o

n
d

itio
n

;
u

p
d

a
te

)
kom

m
ando

;

(den
m

estgenerelle
løkkekonstruktion

iC)
1

førstudføres
init

2
så

beregnes
condition,og

hvis
den

erfalsk,afbrydes
3

kom
m

ando
udføres

4
update

udføres,og
vispringertilbage

tiltrin
2.

#
in

c
lu

d
e

<
s

td
io

.h>
in

t
m

ain
(

vo
id

)
{

/∗
fo

r
.c
∗

/
in

t
i=

1
;

p
rin

tf(
"%

d
e

le
fa

n
t\n

"
,

i);
fo

r
(

i=
2

;
i<

=
1

0
;

)
{

p
rin

tf(
"%

d
e

le
fa

n
te

r
\n

"
,

i);
i+

+
;

}re
tu

rn
0

;
}
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